& and x

Mean Spectrum

4 = 0.010(16) x = 0.824(89) => 0.824(89)
med(mad)

4000

5000 6000

A (B)

rm880 BLR a?o% 1N1LT! %8 W:
(o] TTT TTTT TTTT TTTTTTTTTTTI T[T T I TIT T[T T T T I r I ImITiraTrmTy ]
gF I IRARAN RAARS LARRI ALK WAL MAL M W L
Lol '
T .
Nm
| ,
E \
o
o \ \
[} o ' ]
~ AT '
s , ,
Z ' . 1AVG
< ' l '
\ cont
o e e - 1||4+ W
i - BLR
11 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIImIIIIIIIIIIIIIIIII-
4000 5000 6000 8000 10080
A (B)
RMS Spectrum
rm880 BLR 3000 NLR 900 km/s
‘I| [}
T
=t o
o
|
E
3]
o raw
s
~ —cont
o
= . o
b ke, UL RMSx
o K
: : model
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIImIIIIIIIIIIIIIIIII-
4000 5000 6000 8000 10080
A B)
x(A\t) = ( Data — Model AC5 ) / o X
3/(413550-5078)=0.865=>1.007
o
®
o~
52 -
E
3
c
E o
22
[*]
'3
a -
n ]
o
N
o~
|
i Wl
4000 5000 6000 8000 1 oodg 800
5<-6.00
bad:2066=0.50% A (R) <

rm880 med(mad)% c5
— T T — T T T T T 7 T T T
Alb0s3R) 0.3(1.9)% S/N 189 I
o ‘ 1
L
T
(2]
o Al
§ | 4 //A
o i /A
o O
~
1 1
=
“_K
wn
Lk oA (P ] apaer

Continuum Lightcurve

8000

(IS .

T

7000 7500 8500 9000
MJD — 2450000
BLR Lightcurve
rm880
T 11T T rT]
ol 4
3
w | 4
4
]
]
ol 4
0 4
" 1 " 1 " " 1 " " 1 " " 1
7000 7500 8000 8500 92000
MJD — 2450000
Corrections
w rm880
- LI B L A R B L S B B L B AL |
o[ 4
(22 M| PR PR M| M|
e 7000 7500 8000 8500 9000
MJD — 2450000
4 = 0.0076(51) x = 0.820(25) => 0.820(24)
rm880 med(mad) AC,
T T T T T T T T
o | ]
T
S sl 4
L
o M—M—h—-—ﬁ-ﬁ—% K
[. |. P P P PR T v R |[
7000 7500 8000 8500 QOQQ 500
5<~6.00

MJD — 2450000

Ac %



